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1          options ls = 132 ps = 2000 nodate nocenter;
2          
3          data fiireg;
4          infile 'fii_samp.dat';
5          input ccode $10. +1 w_ret2 15.3 +1 s_uepp_s 15.3 +1 s_tq2 15.3 +1
6          w_mret2 15.3 +1 w_lmcap 15.3 +1 w_bm 15.3 +1 w_agro 15.3 +1 w_op_prof 15.3 +1
7          sntype 15.3 +1 w_lagstd 15.3 +1 w_lag3vol_s 15.3 +1 w_laguepp 15.3 +1
8          w_lnumage 15.3 +1 w_divy 15.3 +1 w_lqprc 15.3 +1 w_mom 15.3;
9          

NOTE: The infile 'fii_samp.dat' is:
      Filename=/scratch/iimb/srangan/fii_samp.dat,
      Owner Name=srangan,Group Name=iimb,
      Access Permission=-rw-------,
      Last Modified=16Mar2018:12:54:09,
      File Size (bytes)=303579

NOTE: 1137 records were read from the infile 'fii_samp.dat'.
      The minimum record length was 266.
      The maximum record length was 266.
NOTE: The data set WORK.FIIREG has 1137 observations and 17 variables.
NOTE: DATA statement used (Total process time):
      real time           0.02 seconds
      cpu time            0.00 seconds
      

10         proc rank data = fiireg out = fiirank ties = mean groups = 10;
11         var w_lmcap;
12         ranks r_lmcap;
13         

NOTE: The data set WORK.FIIRANK has 1137 observations and 18 variables.
NOTE: PROCEDURE RANK used (Total process time):
      real time           0.00 seconds
      cpu time            0.00 seconds
      

14         data dec1 dec2 dec3 dec4 dec5 dec6 dec7 dec8 dec9 dec10;
15         set fiirank;
16         
17         if r_lmcap = 0 then output dec1;
18         if r_lmcap = 1 then output dec2;
19         if r_lmcap = 2 then output dec3;
20         if r_lmcap = 3 then output dec4;
21         if r_lmcap = 4 then output dec5;
22         if r_lmcap = 5 then output dec6;
23         if r_lmcap = 6 then output dec7;
24         if r_lmcap = 7 then output dec8;
25         if r_lmcap = 8 then output dec9;
26         if r_lmcap = 9 then output dec10;
27         
28         %macro optim;
29         
30         %do k = 1 %to 2;
31         
32         proc univariate noprint data = dec&k;
33         var s_uepp_s;
34         output out = desc&k std = s&k;
35         
36         proc print data = desc&k;
37         var s&k;
38         
39         proc optmodel;
40         set alldata;
41         num s&k;
42         num w_ret2{alldata};
43         num s_uepp_s{alldata};
44         num s_tq2{alldata};
45         num w_mret2{alldata};
46         num w_lmcap{alldata};
47         num w_bm{alldata};
48         num w_agro{alldata};
49         num sntype{alldata};
50         num w_op_prof{alldata};
51         num w_lagstd{alldata};
52         num w_lag3vol_s{alldata};
53         num w_laguepp{alldata};
54         num w_lnumage{alldata};
55         num w_divy{alldata};
56         num w_lqprc{alldata};
57         num w_mom{alldata};
58         num mycov{i in 1.._nvar_,  j in 1..i};
59         
60         read data desc&k into s&k;
61         
62         read data dec&k into alldata = [_n_] w_ret2 s_uepp_s s_tq2 w_mret2 w_lmcap w_bm w_agro w_op_prof sntype w_lagstd
62       ! w_lag3vol_s w_laguepp w_lnumage w_divy w_lqprc w_mom;
63         
64         var sigma_T init 0.03, sigma_Z init 0.03, rho init 0.4,  c1 init 0.86, c2 init -0.002, c3 init 0.0009, c4 init 0.001, c5
64       ! init -0.0005, c6 init 0.0006, c7 init 0.00005, c8 init -0.002, c9 init 0.003, c10 init -0.001, c11 init 0.0009, c12 init
64       ! 0.0014, c13 init 0.0128;
65         
66         impvar Err{i in alldata} = w_ret2[i] - (1 - rho*(sigma_T/s&k))*s_uepp_s[i] - ((sigma_T*sqrt(1 -
66       ! (rho**2)))/sigma_Z)*s_tq2[i] - c1*w_mret2[i] - c2*w_lmcap[i] - c3*w_bm[i] -c4*w_agro[i] - c5*w_op_prof[i] - c6*sntype[i]
66       ! - c7*w_lagstd[i] - c8*w_lag3vol_s[i] - c9*w_laguepp[i] - c10*w_lnumage[i] - c11*w_divy[i] - c12*w_lqprc[i] - c13*w_mom[i]
66       ! ;
67         
68         min ssq = sum{i in alldata} Err[i]^2;
69         
70         performance nthreads = 1;
71         
72         con a: rho >= -1 + 1e-6;
73         con b: sigma_T >= 1e-6;
74         con c: sigma_Z >= 1e-6;
75         con d: rho <= (1 - 1e-6);
76         con e: sigma_Z <= 0.01;
77         con f: sigma_T <= 2;
78         
79         solve with nlp / tech = interiorpoint multistart msbndrange = 3 msnumstarts = 20000 covest = (cov = 5 covout = mycov)
80         seed = 116894 msprintlevel = 3;
81         
82         print sigma_T.msinit sigma_Z.msinit rho.msinit c1.msinit c2.msinit c3.msinit c4.msinit c5.msinit c6.msinit
83         c7.msinit c8.msinit c9.msinit c10.msinit c11.msinit c12.msinit c13.msinit;
84         
85         print mycov;
86         
87         print sigma_T sigma_Z rho c1 c2 c3 c4 c5 c6 c7 c8 c9 c10 c11 c12 c13;
88         
89         print s&k;
90         
91         create data optdata&k from sigma_T sigma_Z rho c1 c2 c3 c4 c5 c6 c7 c8 c9 c10 c11 c12 c13;
92         
93         %end;
94         
95         %mend optim;
96         
97         %optim;

NOTE: There were 1137 observations read from the data set WORK.FIIRANK.
NOTE: The data set WORK.DEC1 has 113 observations and 18 variables.
NOTE: The data set WORK.DEC2 has 114 observations and 18 variables.
NOTE: The data set WORK.DEC3 has 114 observations and 18 variables.
NOTE: The data set WORK.DEC4 has 114 observations and 18 variables.
NOTE: The data set WORK.DEC5 has 113 observations and 18 variables.
NOTE: The data set WORK.DEC6 has 114 observations and 18 variables.
NOTE: The data set WORK.DEC7 has 114 observations and 18 variables.
NOTE: The data set WORK.DEC8 has 114 observations and 18 variables.
NOTE: The data set WORK.DEC9 has 114 observations and 18 variables.
NOTE: The data set WORK.DEC10 has 113 observations and 18 variables.
NOTE: DATA statement used (Total process time):
      real time           0.00 seconds
      cpu time            0.00 seconds
      

NOTE: The data set WORK.DESC1 has 1 observations and 1 variables.
NOTE: PROCEDURE UNIVARIATE used (Total process time):
      real time           0.06 seconds
      cpu time            0.02 seconds
      

NOTE: There were 1 observations read from the data set WORK.DESC1.
NOTE: The PROCEDURE PRINT printed page 1.
NOTE: PROCEDURE PRINT used (Total process time):
      real time           0.00 seconds
      cpu time            0.00 seconds
      

NOTE: There were 1 observations read from the data set WORK.DESC1.
NOTE: There were 113 observations read from the data set WORK.DEC1.
NOTE: The OPTMODEL presolver is disabled when the COVEST= option is enabled.
NOTE: The problem has 16 variables (16 free, 0 fixed).
NOTE: The problem uses 113 implicit variables.
NOTE: The problem has 6 linear constraints (3 LE, 0 EQ, 3 GE, 0 range).
NOTE: The problem has 6 linear constraint coefficients.
NOTE: The problem has 0 nonlinear constraints (0 LE, 0 EQ, 0 GE, 0 range).
NOTE: The SOLTYPE= option is set to 0 (Optimal) because the COVEST= option is specified.
NOTE: The objective is in least squares form.
NOTE: The objective Jacobian has 113 rows.
NOTE: Using analytic derivatives for objective.
NOTE: The NLP solver is called.
NOTE: The Interior Point algorithm is used.
NOTE: The MULTISTART option is enabled.
NOTE: The deterministic parallel mode is enabled.
NOTE: The Multistart algorithm is executing in single-machine mode.
NOTE: The Multistart algorithm is using up to 1 threads.
NOTE: Random number seed 116894 is used.
                    Best       Local  Optimality    Infeasi-  Local  Local
      Start    Objective   Objective       Error      bility  Iters  Status
          1 * 0.32097227  0.32097227        5E-7           0     13  Optimal
          2   0.32097227  0.32097227        5E-7           0     16  Optimal
          3   0.32097227  0.32097227        5E-7           0     13  Optimal
          4   0.32097227  0.32097227        5E-7           0     17  Optimal
          5   0.32097227  0.32097227        5E-7           0     22  Optimal
          6   0.32097227  0.32097227  2.60949E-7           0     10  Optimal
          7   0.32097227  0.32097227        5E-7           0     20  Optimal
          8   0.32097227  0.32097227        5E-7           0     21  Optimal
          9   0.32097227  0.32097227  5.14249E-7           0     14  Optimal
         10   0.32097227  0.32097227        5E-7           0     26  Optimal
         11   0.32097227  0.32097227  7.13142E-8           0     14  Optimal
         12   0.32097227  0.32097227  5.29561E-7           0     12  Optimal
         13   0.32097227  0.32097227  5.28222E-7           0     26  Optimal
         14   0.32097227  0.32097227        5E-7           0     16  Optimal
         15   0.32097227  0.32097227  9.17681E-7           0     15  Optimal
         16   0.32097227  0.32097227        5E-7           0     20  Optimal
         17   0.32097227  0.32097227        5E-7           0     25  Optimal
         18   0.32097227  0.32097227        5E-7           0     20  Optimal
         19   0.32097227  0.32097227        5E-7           0     25  Optimal
         20   0.32097227  0.32097227        5E-7           0     20  Optimal
         21   0.32097227  0.32097227  9.19267E-7           0     17  Optimal
         22   0.32097227  0.32097227  3.88252E-7           0     24  Optimal
         23   0.32097227  0.32097227        5E-7           0     16  Optimal
         24   0.32097227  0.32097227        5E-7           0     15  Optimal
         25   0.32097227  0.32097227  6.69371E-7           0     19  Optimal
         26   0.32097227  0.32097227        5E-7           0     15  Optimal
         27   0.32097227  0.32097227  8.29038E-7           0     12  Optimal
         28   0.32097227  0.32097227        5E-7           0     19  Optimal
         29   0.32097227  0.32097227        5E-7           0     13  Optimal
         30   0.32097227  0.32097227  7.45417E-7           0     27  Optimal
         31   0.32097227  0.32097227        5E-7           0     15  Optimal
         32   0.32097227  0.32097227        5E-7           0     17  Optimal
         33   0.32097227  0.32097227        5E-7           0     17  Optimal
         34   0.32097227  0.32097227  7.38612E-7           0     14  Optimal
         35   0.32097227  0.32097227  6.04053E-7           0     15  Optimal
         36   0.32097227  0.32097227        5E-7           0     18  Optimal
         37   0.32097227  0.32097227  7.48275E-7           0     19  Optimal
         38   0.32097227  0.32097227        5E-7           0     28  Optimal
         39   0.32097227  0.32097227  8.11739E-7           0     16  Optimal
         40   0.32097227  0.32097227  6.50544E-7           0     23  Optimal
         41   0.32097227  0.32097227        5E-7           0     16  Optimal
         42   0.32097227  0.32097227        5E-7           0     14  Optimal
         43   0.32097227  0.32097227        5E-7           0     14  Optimal
         44   0.32097227  0.32097227        5E-7           0     19  Optimal
         45   0.32097227  0.32097227        5E-7           0     16  Optimal
         46   0.32097227  0.32097227        5E-7           0     17  Optimal
         47   0.32097227  0.32097227        5E-7           0     14  Optimal
         48   0.32097227  0.32097227        5E-7           0     12  Optimal
         49   0.32097227  0.32097227  6.37591E-7           0     19  Optimal
         50   0.32097227  0.32097227        5E-7           0     14  Optimal
         51   0.32097227  0.32097227        5E-7           0     15  Optimal
         52   0.32097227  0.32860096  9.14328E-7           0      2  Optimal
         53   0.32097227  0.32097227  6.34125E-7           0     17  Optimal
         54   0.32097227  0.32097227        5E-7           0     27  Optimal
         55   0.32097227  0.32097227        5E-7           0     19  Optimal
         56   0.32097227  0.32097227        5E-7           0     17  Optimal
         57   0.32097227  0.32097227  4.66987E-7           0     23  Optimal
         58   0.32097227  0.32097227        5E-7           0     17  Optimal
         59   0.32097227  0.32097227  7.89943E-7           0     17  Optimal
         60   0.32097227  0.32097227  6.21461E-7           0     18  Optimal
NOTE: The Multistart algorithm generated 8200 sample points.
NOTE: 2794 sample points were discarded due to difficulty in function evaluation.
NOTE: 60 distinct local optima were found.
NOTE: The best objective value found by local solver = 0.320972272.
NOTE: The solution found by local solver with objective = 0.320972272 was returned.
NOTE: The data set WORK.OPTDATA1 has 1 observations and 16 variables.
NOTE: The PROCEDURE OPTMODEL printed pages 2-3.
NOTE: PROCEDURE OPTMODEL used (Total process time):
      real time           1:15.34
      cpu time            2.11 seconds
      

NOTE: The data set WORK.DESC2 has 1 observations and 1 variables.
NOTE: PROCEDURE UNIVARIATE used (Total process time):
      real time           0.00 seconds
      cpu time            0.00 seconds
      

NOTE: There were 1 observations read from the data set WORK.DESC2.
NOTE: The PROCEDURE PRINT printed page 4.
NOTE: PROCEDURE PRINT used (Total process time):
      real time           0.00 seconds
      cpu time            0.00 seconds
      

NOTE: There were 1 observations read from the data set WORK.DESC2.
NOTE: There were 114 observations read from the data set WORK.DEC2.
NOTE: The OPTMODEL presolver is disabled when the COVEST= option is enabled.
NOTE: The problem has 16 variables (16 free, 0 fixed).
NOTE: The problem uses 114 implicit variables.
NOTE: The problem has 6 linear constraints (3 LE, 0 EQ, 3 GE, 0 range).
NOTE: The problem has 6 linear constraint coefficients.
NOTE: The problem has 0 nonlinear constraints (0 LE, 0 EQ, 0 GE, 0 range).
NOTE: The SOLTYPE= option is set to 0 (Optimal) because the COVEST= option is specified.
NOTE: The objective is in least squares form.
NOTE: The objective Jacobian has 114 rows.
NOTE: Using analytic derivatives for objective.
NOTE: The NLP solver is called.
NOTE: The Interior Point algorithm is used.
NOTE: The MULTISTART option is enabled.
NOTE: The deterministic parallel mode is enabled.
NOTE: The Multistart algorithm is executing in single-machine mode.
NOTE: The Multistart algorithm is using up to 1 threads.
NOTE: Random number seed 116894 is used.
                    Best       Local  Optimality    Infeasi-  Local  Local
      Start    Objective   Objective       Error      bility  Iters  Status
          1 * 0.20836373  0.20836373        5E-7           0     19  Optimal
          2   0.20836373  0.20836373        5E-7           0     12  Optimal
          3   0.20836373  0.20836373        5E-7           0     14  Optimal
          4   0.20836373  0.20836373  8.49676E-7           0     16  Optimal
          5   0.20836373  0.20836373        5E-7           0     22  Optimal
          6   0.20836373  0.20836373        5E-7           0     24  Optimal
          7   0.20836373  0.20836373        5E-7           0     26  Optimal
          8   0.20836373  0.20836373        5E-7           0     14  Optimal
          9   0.20836373  0.20836373        5E-7           0     13  Optimal
         10   0.20836373  0.20836373        5E-7           0     32  Optimal
         11   0.20836373  0.20836373        5E-7           0     23  Optimal
         12   0.20836373  0.20836373        5E-7           0     17  Optimal
         13   0.20836373  0.20836373        5E-7           0     14  Optimal
         14   0.20836373  0.20836373  7.91229E-7           0     13  Optimal
         15   0.20836373  0.20836373        5E-7           0     18  Optimal
         16   0.20836373  0.20836373        5E-7           0     20  Optimal
         17   0.20836373  0.20836373  9.61873E-7           0     12  Optimal
         18   0.20836373  0.20836373        5E-7           0     13  Optimal
         19   0.20836373  0.20836373        5E-7           0     25  Optimal
         20   0.20836373  0.20836373        5E-7           0     14  Optimal
         21   0.20836373  0.20836373        5E-7           0     13  Optimal
         22   0.20836373  0.20836373        5E-7           0     20  Optimal
         23   0.20836373  0.20836373  7.66269E-7           0     11  Optimal
         24   0.20836373  0.20836373  5.44462E-7           0     13  Optimal
         25   0.20836373  0.20836373        5E-7           0     19  Optimal
         26   0.20836373  0.20836373   6.3363E-7           0     20  Optimal
         27   0.20836373  0.20836373        5E-7           0     14  Optimal
         28   0.20836373  0.20836373        5E-7           0     26  Optimal
         29   0.20836373  0.20836373        5E-7           0     13  Optimal
         30   0.20836373  0.20836373        5E-7           0     16  Optimal
         31   0.20836373  0.20836373        5E-7           0     25  Optimal
         32   0.20836373  0.20836373        5E-7           0     18  Optimal
         33   0.20836373  0.20836373        5E-7           0     15  Optimal
         34   0.20836373  0.20836373  6.06843E-7           0     15  Optimal
         35   0.20836373  0.20836373        5E-7           0     16  Optimal
         36   0.20836373  0.20836373        5E-7           0     25  Optimal
NOTE: The Multistart algorithm generated 2000 sample points.
NOTE: 669 sample points were discarded due to difficulty in function evaluation.
NOTE: 13 distinct local optima were found.
NOTE: The best objective value found by local solver = 0.2083637264.
NOTE: The solution found by local solver with objective = 0.2083637264 was returned.
NOTE: The data set WORK.OPTDATA2 has 1 observations and 16 variables.
98         
99         data optdata;
NOTE: The PROCEDURE OPTMODEL printed pages 5-6.
NOTE: PROCEDURE OPTMODEL used (Total process time):
      real time           18.59 seconds
      cpu time            0.81 seconds
      

100        set optdata1 optdata2;
101        

NOTE: There were 1 observations read from the data set WORK.OPTDATA1.
NOTE: There were 1 observations read from the data set WORK.OPTDATA2.
NOTE: The data set WORK.OPTDATA has 2 observations and 16 variables.
NOTE: DATA statement used (Total process time):
      real time           0.00 seconds
      cpu time            0.00 seconds
      

102        proc print data = optdata;
103        
104        %macro optim2;
105        
106        %do q = 1 %to 2;
107        
108        proc optmodel;
109        
110        set alldata;
111        set parmdata;
112        num s&q;
113        num w_ret2{alldata};
114        num s_uepp_s{alldata};
115        num s_tq2{alldata};
116        num w_mret2{alldata};
117        num w_lmcap{alldata};
118        num w_bm{alldata};
119        num w_agro{alldata};
120        num sntype{alldata};
121        num w_op_prof{alldata};
122        num w_lagstd{alldata};
123        num w_lag3vol_s{alldata};
124        num w_laguepp{alldata};
125        num w_lnumage{alldata};
126        num w_divy{alldata};
127        num w_lqprc{alldata};
128        num w_mom{alldata};
129        
130        num sigma_T{parmdata};
131        num sigma_Z{parmdata};
132        num rho{parmdata};
133        num c1{parmdata};
134        num c2{parmdata};
135        num c3{parmdata};
136        num c4{parmdata};
137        num c5{parmdata};
138        num c6{parmdata};
139        num c7{parmdata};
140        num c8{parmdata};
141        num c9{parmdata};
142        num c10{parmdata};
143        num c11{parmdata};
144        num c12{parmdata};
145        num c13{parmdata};
146        num chk;
147        
148        num mycov{i in 1.._nvar_,  j in 1..i};
149        
150        read data optdata into parmdata = [_n_] sigma_T sigma_Z rho c1 c2 c3 c4 c5 c6 c7 c8 c9 c10 c11 c12 c13;
151        
152        read data desc&q into s&q;
153        
154        read data dec&q into alldata = [_n_] w_ret2 s_uepp_s s_tq2 w_mret2 w_lmcap w_bm w_agro w_op_prof sntype w_lagstd
154      ! w_lag3vol_s w_laguepp w_lnumage w_divy w_lqprc w_mom;
155        
156        var sigma_T1 init sigma_T[q], sigma_Z1 init sigma_Z[q], rho1 init rho[q],  c1a init c1[q], c2a init c2[q], c3a init
156      ! c3[q], c4a init c4[q], c5a init c5[q], c6a init c6[q], c7a init c7[q], c8a init c8[q], c9a init c9[q], c10a init c10[q],
156      ! c11a init c11[q], c12a init c12[q], c13a init c13[q];
157        
158        impvar Err{i in alldata} = w_ret2[i] - (1 - rho1*(sigma_T1/s&q))*s_uepp_s[i] - ((sigma_T1*sqrt(1 -
158      ! (rho1**2)))/sigma_Z1)*s_tq2[i] - c1a*w_mret2[i] - c2a*w_lmcap[i] - c3a*w_bm[i] - c4a*w_agro[i] - c5a*w_op_prof[i] -
158      ! c6a*sntype[i] - c7a*w_lagstd[i] - c8a*w_lag3vol_s[i] - c9a*w_laguepp[i] - c10a*w_lnumage[i] - c11a*w_divy[i] -
158      ! c12a*w_lqprc[i] - c13a*w_mom[i];
159        
160        min ssq = sum{i in alldata} Err[i]^2;
161        
162        performance nthreads = 1;
163        
164        con a: rho1 >= -1 + 1e-6;
165        con b: sigma_T1 >= 1e-6;
166        con c: sigma_Z1 >= 1e-6;
167        con d: rho1 <= (1 - 1e-6);
168        con e: sigma_Z1 <= 0.01;
169        con f: sigma_T1 <= 2;
170        
171        solve with nlp / tech = interiorpoint multistart msbndrange = 3 msnumstarts = 20000 covest = (cov = 5 covout = mycov)
172        seed = 116894 msprintlevel = 3;
173        
174        chk = sigma_T1 - sigma_T[q];
175        
176        print chk;
177        
178        print mycov;
179        
180        print sigma_T1 sigma_Z1 rho1 c1a c2a c3a c4a c5a c6a c7a c8a c9a c10a c11a c12a c13a;
181        
182        print s&q;
183        
184        %end;
185        
186        %mend optim2;
187        
188        %optim2;

NOTE: There were 2 observations read from the data set WORK.OPTDATA.
NOTE: The PROCEDURE PRINT printed page 7.
NOTE: PROCEDURE PRINT used (Total process time):
      real time           0.00 seconds
      cpu time            0.00 seconds
      

NOTE: There were 2 observations read from the data set WORK.OPTDATA.
NOTE: There were 1 observations read from the data set WORK.DESC1.
NOTE: There were 113 observations read from the data set WORK.DEC1.
NOTE: Line generated by the invoked macro "OPTIM2".
188                                                                         var sigma_T1 init sigma_T[q], sigma_Z1 init sigma_Z[q],
                                                                                                      _                         _
_                                                                                                                                   
_                                                                                                                                   
_                                                                                                                                   
_                                                                                                                                   
_                                                                                                                                   
_                                                                                                                                   
_                                                                                                                                   
_                                                                                                                                   
                                                                                                      525                       525
525                                                                                                                                
525                                                                                                                                
525                                                                                                                                
525                                                                                                                                
525                                                                                                                                
525                                                                                                                                
525                                                                                                                                
525                                                                                                                                
188      ! rho1 init rho[q],  c1a init c1[q], c2a init c2[q], c3a init c3[q], c4a init c4[q], c5a init c5[q], c6a init c6[q], c7a
188      ! init c7[q], c8a
NOTE: Line generated by the invoked macro "OPTIM2".
188         init c8[q], c9a init c9[q], c10a init c10[q], c11a init c11[q], c12a init c12[q], c13a init c13[q];
                    _               _                 _                 _                 _                 _
                    525             525               525               525               525               525
ERROR 525-782: The symbol 'q' is unknown.

NOTE: The OPTMODEL presolver is disabled when the COVEST= option is enabled.
NOTE: Previous errors might cause the problem to be resolved incorrectly.
ERROR: The variable 'sigma_T1' has an incomplete declaration.
ERROR: The variable 'sigma_Z1' has an incomplete declaration.
ERROR: The variable 'rho1' has an incomplete declaration.
ERROR: The variable 'c1a' has an incomplete declaration.
ERROR: The variable 'c2a' has an incomplete declaration.
ERROR: The variable 'c3a' has an incomplete declaration.
ERROR: The variable 'c4a' has an incomplete declaration.
ERROR: The variable 'c5a' has an incomplete declaration.
ERROR: The variable 'c6a' has an incomplete declaration.
ERROR: The variable 'c7a' has an incomplete declaration.
NOTE: The maximum error limit was reached during OPTMODEL problem generation.
NOTE: Unable to create problem instance due to previous errors.
NOTE: Line generated by the invoked macro "OPTIM2".
188                                                                                     chk = sigma_T1 - sigma_T[q];
                                                                                                                 _
                                                                                                                 525
ERROR 525-782: The symbol 'q' is unknown.

ERROR: The symbol 'chk' has no value at line 188 column 114.
NOTE: The SAS System stopped processing this step because of errors.
NOTE: The PROCEDURE OPTMODEL printed pages 8-9.
NOTE: PROCEDURE OPTMODEL used (Total process time):
      real time           0.01 seconds
      cpu time            0.01 seconds
      


NOTE: There were 2 observations read from the data set WORK.OPTDATA.
NOTE: There were 1 observations read from the data set WORK.DESC2.
NOTE: There were 114 observations read from the data set WORK.DEC2.
NOTE: Line generated by the invoked macro "OPTIM2".
188                                                                         var sigma_T1 init sigma_T[q], sigma_Z1 init sigma_Z[q],
                                                                                                      _                         _
_                                                                                                                                   
_                                                                                                                                   
_                                                                                                                                   
_                                                                                                                                   
_                                                                                                                                   
_                                                                                                                                   
_                                                                                                                                   
_                                                                                                                                   
                                                                                                      525                       525
525                                                                                                                                
525                                                                                                                                
525                                                                                                                                
525                                                                                                                                
525                                                                                                                                
525                                                                                                                                
525                                                                                                                                
525                                                                                                                                
188      ! rho1 init rho[q],  c1a init c1[q], c2a init c2[q], c3a init c3[q], c4a init c4[q], c5a init c5[q], c6a init c6[q], c7a
188      ! init c7[q], c8a
NOTE: Line generated by the invoked macro "OPTIM2".
188         init c8[q], c9a init c9[q], c10a init c10[q], c11a init c11[q], c12a init c12[q], c13a init c13[q];
                    _               _                 _                 _                 _                 _
                    525             525               525               525               525               525
ERROR 525-782: The symbol 'q' is unknown.

NOTE: The OPTMODEL presolver is disabled when the COVEST= option is enabled.
NOTE: Previous errors might cause the problem to be resolved incorrectly.
ERROR: The variable 'sigma_T1' has an incomplete declaration.
ERROR: The variable 'sigma_Z1' has an incomplete declaration.
ERROR: The variable 'rho1' has an incomplete declaration.
ERROR: The variable 'c1a' has an incomplete declaration.
ERROR: The variable 'c2a' has an incomplete declaration.
ERROR: The variable 'c3a' has an incomplete declaration.
ERROR: The variable 'c4a' has an incomplete declaration.
ERROR: The variable 'c5a' has an incomplete declaration.
ERROR: The variable 'c6a' has an incomplete declaration.
ERROR: The variable 'c7a' has an incomplete declaration.
NOTE: The maximum error limit was reached during OPTMODEL problem generation.
NOTE: Unable to create problem instance due to previous errors.
NOTE: Line generated by the invoked macro "OPTIM2".
188                                                                                     chk = sigma_T1 - sigma_T[q];
                                                                                                                 _
                                                                                                                 525
ERROR 525-782: The symbol 'q' is unknown.

ERROR: The symbol 'chk' has no value at line 188 column 114.
189        
NOTE: The SAS System stopped processing this step because of errors.
NOTE: The PROCEDURE OPTMODEL printed pages 10-11.
NOTE: PROCEDURE OPTMODEL used (Total process time):
      real time           0.01 seconds
      cpu time            0.01 seconds
      

ERROR: Errors printed on page 2.

NOTE: SAS Institute Inc., SAS Campus Drive, Cary, NC USA 27513-2414
NOTE: The SAS System used:
      real time           1:36.53
      cpu time            3.16 seconds
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